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Question 1
Question Type: MultipleChoice

Which three statements are true about an Oracle Database RAC software installation? (Choose three.)

Options: 
A- SSH user equivalence for the Oracle user can be set up before the software installation.

B- Fix-up scripts generated during the installation must be run as root on UNIX platforms.

C- The software must be installed into a local file system on each node.

D- The software must be installed into a cluster file system.

E- RAC installations require Oracle Enterprise Edition.

F- The software can be installed into an ACFS file system.

G- The software must be installed on all nodes in the cluster.

Answer: 
A, B, E



Question 2
Question Type: MultipleChoice

Which statement describes the purpose of colocation_tag for client routing with Oracle database 19c?

Options: 
A- When possible, clients with the same colocation_tag are routed to the same instance that offers a given service.

B- When possible, clients with the same colocation_tag are routed to the same available instance even if a preferred instance is

available.

C- When possible, clients with the same colocation_tag could be routed across a set of preferred instances based on a specific load

balancing option.

D- When possible, clients with the same colocation_tag are routed to the same available instance when a preferred instance is not

available.

Answer: 
A

Question 3



Question Type: MultipleChoice

Which three events occur when a node fails in an Oracle Clusterware 19c Cluster? (Choose three.)

Options: 
A- Cluster resources running on the failed node must be recovered when the node is restarted.

B- Cluster Resources running on the failed node are relocated to one or more surviving hub nodes.

C- Cluster Resources running on the failed node are suspended until the node is restarted.

D- Sessions connected to the failed node could be relocated to one or more surviving nodes.

E- The node is evicted from the cluster

Answer: 
B, D, E

Question 4
Question Type: MultipleChoice

Which three statements are true about ASM Cloud File System (ACFS) replication? (Choose three.)



Options: 
A- Replication is automatically terminated if the primary file system has less than 2 GB free space.

B- ACFS auditing information is replicated from the primary file system to the standby file system.

C- Standby redo log files are required on the standby site for synchronous redo transport.

D- The privilege sysrepl has been introduced for ACFS replication.

E- One site of an ACFS replication configuration can host both primary and standby file systems.

Answer: 
B, D, E

Question 5
Question Type: MultipleChoice

Which two statements are true about Oracle Clustered ASM performance? (Choose two.)

Options: 



A- Data files, redo logs, and RMAN backup pieces must be stored in different ASM disk groups for optimal performance.

B- All ASM Disks belonging to a disk group should be of the same size for optimal performance.

C- Hardware-based mirroring combined with ASM mirroring guarantees optimal performance.

D- All ASM Disks belonging to a disk group should have the same hardware specifications and storage attributes for optimal

performance.

E- To improve performance a database must have two disk groups; one for data and one for the fast recovery area.

Answer: 
B, D

Question 6
Question Type: MultipleChoice

Examine these descriptions of ASM instance shutdown behavior:

1) The ASM instance shuts down immediately without an orderly dismount of disk groups.

2) Active SQL statements are allowed to complete before an orderly dismount of all disk groups occurs and then the ASM instance shuts

down without waiting for connected sessions to disconnect. If any ASM clients are connected to the instance, then the shutdown returns

an error.



3) Active SQL statements are allowed to complete before an orderly dismount of all of disk groups occurs and then the ASM instance

shuts down after waiting for connected sessions to disconnect. If any ASM clients are connected to the instance, then the shutdown

returns an error.

Which two lists are correct matches for these descriptions? (Choose two.)

Options: 
A- 2 = NORMAL, 3 = TRANSACTIONAL, 1 = ABORT

B- 2 = NORMAL, 3 = IMMEDIATE, 1 = ABORT

C- 3 = NORMAL, 2 = TRANSACTIONAL, 1 = ABORT

D- 3 = NORMAL, 2 = ABORT, 1 = IMMEDIATE

E- 3 = NORMAL, 2 = IMMEDIATE, 1 = ABORT

Answer: 
D, E

Question 7
Question Type: MultipleChoice



Which two commands will stop the Oracle High Availability Services (OHAS) and prevent it from starting automatically at system boot on

the local node? (Choose two.)

Options: 
A- crsctl stop cluster

B- crsctl config crs

C- crsctl disable crs

D- crsctl stop crs

Answer: 
C, D

Question 8
Question Type: MultipleChoice

Which three statements are true about accessing ASM files? (Choose three.)



Options: 
A- Database instances perform read I/O using an ASM instance as an I/O Server.

B- Database instances can write metadata to ASM diskgroups.

C- Database instances perform read I/O directly to ASM Disks.

D- ASM instances can write metadata to ASM diskgroups.

E- If a database instance writes to an ASM-based datafile whose redundancy attribute is set to mirror, then the ASM instance writes the

mirror copy

Answer: 
B, C, D

Question 9
Question Type: MultipleChoice

You performed these steps to disable an ADVM volume containing an ACFS file system:

1. Dismount the file system.

2. Disable the volume with the ASMCMD voldisable command.



Which two statements are true regarding the actions performed? (Choose two.)

Options: 
A- The ACFS file system will be permanently removed from the volume.

B- The ACFS mount registry with Oracle restart is automatically deleted.

C- The disabling of volume does not destroy data in the file system.

D- The volume can be enabled and the file system can be mounted back again to access the existing data.

E- The ACFS file system will be permanently removed from the volume only if the file system is empty.

Answer: 
C, D
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